@1 ® 3 @ 5 ® 8

Do



lx=1y=24 9, a+b 2 32?

® 2 @ 3 ® 4






4. xy-2x-2y+1=0° THZ7} A ehs AREHL2?

@ A1 AREH @ A 2 AHEH ® Al 3 AREH

@ Al 4 AHEH ® Hol gltt.



el

7} oheat

o] ==
SR,

® 0

® 2

1



+q o I ohE 2™

W a+p+qo 4

29

®1

@ 0
® 3



Bage y = 23 o Aefo] 1y s 29 W, g
x+2

HF= A et A&7

D {x|-3<x<-=2) @ {x]x<=2)

@ {x]|-2<x} @ {x|-2<x<2)

® {x|-2<x<3)

< 49



H A5 _
~—TwaT)y=

x—1

2
kO wE T

1 @1

o] agjmrt A y = —x + ko] tiste] AL

sholat

® 3



S % AU ohe AHEHo] 2L A7)2] A AL

1 4
@y T3 © vy 13

2 -2
©y= -1 ®y= +1

x—3 x—1

0,606 20206 006 ®oo6 006




= m -
—_—— - — — = “l nﬂlll
1 |
,,ﬂlﬂv 0
el
o ©
P
5 S)
B
H .
Fooe
of o
< cw_n_w_ o
e s
S Q
[ _
o
IT
51 e
=






ol
Ay

ol

o tfgelet.

5

@ #H(0, 1)l

® k|7t 252 Z42 4 (0, 1)l 7 A

o thgeolet.

S

@y:—x—l—loﬂtﬂ






e %agéy:L%%JQZﬂgﬂyzaﬂlﬂzﬂﬁﬁq2ﬂﬂ

S she agke] WSS Teka?

G asl @ a>1 ® 0<ax<l1

@ -1<a<0 ® -1<a<1



15. &5 f(x) = xlwmadf@w%ﬂmiHﬂW%?

X —

2f(x) 2f(x) 2£(x)
ST ® S+ @ -1
2 (3 5 2

f)+1 f(x) =2



